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5 3 4 [ R MR AL E SRR i S H R (B =RIEA)
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(ZBRE10ALLE)

KR " T "

TEREH| A E | AR | ZBREK| OB AR | ZRE K| AkE k| AR
H AR AR 33 33| 100.0 32 32| 100.0 1 1| 100.0
AL SCBOR R ) R0 30 30[ 100.0 30 30[ 100.0 0 0 0.0
Ea LSV NE R i NE 29 29 100.0 29 29| 100.0 0 0 0.0
] BR = PR AR AL R 26 26 100.0 26 26 100.0 0 0 0.0
B VE “EhIF R AR AL T e 24 24 100.0 23 23| 100.0 1 1| 100.0
P AR AT NI R 7% 23 23  100.0 22 22 100.0 1 1| 100.0
R SR T 8 AL P 2 b T 2 R 21 21| 100.0 21 21 100.0 0 0 0.0
RN K 21 21| 100.0 21 21| 100.0 0 0 0.0
AR AR RS 21 21 100.0 20 20( 100.0 1 1| 100.0
FRF L R 19 19| 100.0 18 18| 100.0 1 1| 100.0
B2 R 2 572 ] 19 19| 100.0 19 19| 100.0 0 0 0.0
HERT: 19 19| 100.0 18 18| 100.0 1 1| 100.0
FsR FL I K7 18 18] 100.0 18 18| 100.0 0 0 0.0
b B AR ERE AL 7 18 18| 100.0 18 18| 100.0 0 0 0.0
IGL [ A AL EE P A 17 17| 100.0 16 16| 100.0 1 1| 100.0
HEYMCA F BE R 1k B A 16 16| 100.0 16 16| 100.0 0 0 0.0
Kot WA= 16 16| 100.0 16 16| 100.0 0 0 0.0
BT e K 16 16| 100.0 16 16| 100.0 0 0 0.0
GIPnV S e NES 15 15| 100.0 14 14| 100.0 1 1| 100.0
RO IR 5 AL B P AR 15 15| 100.0 14 14| 100.0 1 1| 100.0
K FH [ R B B P 245 14 14| 100.0 14 14| 100.0 0 0 0.0
R RS B SRR 7 B P 87 ) e 14 14| 100.0 14 14| 100.0 0 0 0.0
i) T A R P A 14 14| 100.0 14 14| 100.0 0 0 0.0
R 2% « R - ST 5P 7% 14 14| 100.0 13 13| 100.0 1 1| 100.0
JEB IR e (= PR R R AR 13 13| 100.0 13 13| 100.0 0 0 0.0
+ 3R AR 13 13| 100.0 13 13| 100.0 0 0 0.0
PNERE T R e SV RN S AL 2L il e 12 12 100.0 12 12| 100.0 0 0 0.0
FRZR )T S tE R P AR 12 12| 100.0 12 12| 100.0 0 0 0.0

(1~28)



R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
LAEAD AR 12 12| 100.0 11 11| 100.0 1 1| 100.0
WVE [E BR R 12 12| 100.0 11 11| 100.0 1 1| 100.0
PR b - (7R GER AR 12 12| 100.0 12 12| 100.0 0 0 0.0
R IR A R S R P R 12 12| 100.0 12 12| 100.0 0 0 0.0
o B AR AL A 12 12| 100.0 12 12| 100.0 0 0 0.0
BN NES 12 12| 100.0 12 12| 100.0 0 0 0.0
B IR 25 R A F L 2R 12 12| 100.0 12 12| 100.0 0 0 0.0
RIFEERT RE Y R A E R AR 2 LA 11 11 100.0 11 11 100.0 0 0 0.0
FRZR )T IR ST PR R R 11 11| 100.0 10 10| 100.0 1 1| 100.0
EBRE I R T M AR 11 11| 100.0 11 11| 100.0 0 0 0.0
LI R AR P A 11 11| 100.0 8 8| 100.0 3 3 100.0
SRR 11 11| 100.0 11 11| 100.0 0 0 0.0
E(SINES SR i NEl 11 11| 100.0 10 10| 100.0 1 1| 100.0
YMCA K- IR AL T A5 11 11| 100.0 11 11| 100.0 0 0 0.0
H AR OB EH K 10 10[ 100.0 9 9| 100.0 1 1| 100.0
A ARfE SRR 10 10| 100.0 10 10| 100.0 0 0 0.0
HBEREEL oY (AR 36 35| 97.2 36 35| 97.2 0 0 0.0
UNME S E A AL P AR 34 33 97.1 34 33 97.1 0 0 0.0
My R e R 27 26|  96.3 25 25 100.0 2 1| 50.0
FLIRE [ B0 e L B P AR 25 24| 96.0 24 24 100.0 1 0 0.0
A AAEAE T S (V— L 7T ) 24 23|  95.8 23 23| 100.0 1 0 0.0
[ e S T NES 23 22| 95.7 23 22| 95.7 0 0 0.0
R R AL SR T B P SRR A 23 22| 95.7 23 22| 95.7 0 0 0.0
R IR e W 22 21|  95.5 20 20 100.0 2 1| 50.0
FAR— 7t AL R P AR 20 19]  95.0 19 18] 94.7 1 1| 100.0
K HEEEALR T 19 18] 94.7 19 18] 94.7 0 0 0.0
KN AR AERE A5 18 17| 94.4 18 17| 94.4 0 0 0.0
T JlE RN B A AR R L TR 18 17| 94.4 18 17| 94.4 0 0 0.0
ri KN AR R P AR 16 15|  93.8 16 15|  93.8 0 0 0.0
A R R A B 2 (3 Ak ) 16 15| 93.8 14 14| 100.0 2 1| 50.0
A E R EAL & B L Y 15 14 93.3 15 14| 93.3 0 0 0.0
IR P ) 508 15 14| 93.3 13 13| 100.0 2 1| 50.0

(29~60#%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
v Wiy Bt 5 8 Lk R 7 15 14| 93.3 14 14| 100.0 1 0 0.0
5L T 28 AR Ak R S ) R 15 14|  93.3 14 14| 100.0 1 0 0.0
INSIESNES 15 14 93.3 14 14| 100.0 1 0 0.0
PEFNE AR 54 15 14|  93.3 15 14|  93.3 0 0 0.0
)RS [ 9 5 B K5 14 13| 92.9 13 13| 100.0 1 0 0.0
HE e R 14 13| 92.9 12 12| 100.0 2 1| 50.0
o (o] [ P B A AL B P A 14 13 92.9 14 13| 92.9 0 0 0.0
] L [ 0 A kB P AR 52 48| 92.3 52 48| 92.3 0 0 0.0
TV 7 E AR AR P AR 26 24 92.3 25 23] 92.0 1 1| 100.0
AN TR NES 26 24| 92.3 26 24| 92.3 0 0 0.0
5 T R R B P 2 (R A R AR 12 11| 91.7 9 9| 100.0 3 2| 66.7
AR AR 12 11| 91.7 12 11| 91.7 0 0 0.0
H ARk R K 12 11| 917 12 11| 917 0 0 0.0
~ =T [E AR AR R 12 11 91.7 12 11| 91.7 0 0 0.0
NN RN 22 20 90.9 21 20[  95.2 1 0 0.0
& ST AR AL P AR 22 20 90.9 20 19| 95.0 2 1| 50.0
B W R PR AU R P AR 11 10| 90.9 10 10| 100.0 1 0 0.0
F A Ak R SR Ak B P AR 42 38|  90.5 40 371 92.5 2 1| 50.0
il K 21 19]  90.5 21 19]  90.5 0 0 0.0
H g Ak — S L BE R AR 20 18] 90.0 19 18] 94.7 1 0 0.0
REL TR 10 9  90.0 9 9| 100.0 1 0 0.0
RIS AL R 545 10 9  90.0 10 9]  90.0 0 0 0.0
wio PR LR R AL R P AR 39 35  89.7 34 33| 97.1 5 2| 40.0
B LR 29 26|  89.7 28 26|  92.9 1 0 0.0
EMNAR = ERE AR 5L 19 17| 89.5 19 17| 89.5 0 0 0.0
PR SN NE Rl NE 27 24|  88.9 25 23] 92.0 2 1|  50.0
N =T Ly H i A B P S 25 22|  88.0 25 22|  88.0 0 0 0.0
T 1S P SR A ) 3l 24 21| 87.5 24 21| 87.5 0 0 0.0
FWNESI T EOEAER T AR 16 14| 87.5 16 14| 87.5 0 0 0.0
S Bt SR A R P AR 15 13| 86.7 15 13| 86.7 0 0 0.0
RIS a4 (N @R 7 2R 22 19| 86.4 22 19| 86.4 0 0 0.0
PR~ — R ANE AR AL R P 22 19| 86.4 20 19|  95.0 2 0 0.0

(61~921%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
KRR SR EAR B P 2 K e s 29 25|  86.2 28 25|  89.3 1 0 0.0
o [ A A AL B PR A P AR 36 31|  86.1 32 30 938 4 1| 25.0
FH [l IR A13 72 3 R 7 35 30 85.7 30 27| 90.0 5 3] 60.0
UANRE S PN S TR e 21 18|  85.7 20 18 90.0 1 0 0.0
ABHEE ST R R AR 20 17| 85.0 18 17| 94.4 2 0 0.0
T —VIEREE ALY AR 19 16| 84.2 16 16| 100.0 3 0 0.0
DRI e R i pNES 19 16|  84.2 17 16| 94.1 2 0 0.0
7 R 7 19 16| 84.2 16 16| 100.0 3 0 0.0
FE 2 SKURR PR 19 16| 84.2 19 16| 84.2 0 0 0.0
4t BER W EE AL R P AR 25 21|  84.0 23 21|  91.3 2 0 0.0
AL PR 5 B P ¢ 18 15|  83.3 18 15| 83.3 0 0 0.0
NS (S R IRy iy 59 49| 83.1 56 48|  85.7 3 1| 33.3
JEER R R e A = ) 23 19 82.6 23 19| 82.6 0 0 0.0
77 A AR B P AR 23 19| 82.6 21 19]  90.5 2 0 0.0
BER AL EEAEEE BT AR 28 23| 82.1 28 23| 82.1 0 0 0.0
HI U ANT 7 — KA P A 22 18| 81.8 18 16|  88.9 4 2| 50.0
SRR T R A 5 22 18| 81.8 20 17| 85.0 2 1| 50.0
N a A e MR 11 9 81.8 11 9| 81.8 0 0 0.0
FEIS SRR P 22 11 9| 81.8 9 8| 88.9 2 1| 50.0
AL S b R B P A 11 9] 81.8 9 8 88.9 2 1| 50.0
Il = PR R AR AL EE P 2P 38 31| 81.6 37 31| 83.8 1 0 0.0
Bt BB AL B ER I P 48 39| 81.3 42 37| 88.1 6 2| 33.3
R H AL P AR 16 13| 81.3 14 13| 92.9 2 0 0.0
R Bh = i 5t I B A 16 13|  81.3 14 13| 92.9 2 0 0.0
IR AR P R (It bR} 26 21|  80.8 25 21| 84.0 1 0 0.0
TS RE R AR P AR 25 20/ 80.0 23 20|  87.0 2 0 0.0
SN R AEY T — g 225 20 16| 80.0 17 15|  88.2 3 1| 33.3
WY e kPR B R AR 39 31 79.5 36 30 83.3 3 1| 33.3
= H TR AR 24 19]  79.2 20 19|  95.0 4 0 0.0
IR TR NS 19 15|  78.9 16 14| 87.5 3 1| 33.3
(O P Ne Ay NE SR NE 19 15|  78.9 16 15|  93.8 3 0 0.0
T T 27 o] AT R 19 15|  78.9 19 15|  78.9 0 0 0.0

(93~124%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
TN R R R (AR 14 11| 78.6 9 9| 100.0 5 2| 40.0
KB R e 2R B P 23 18]  78.3 20 18] 90.0 3 0 0.0
Rl fIE R P AR 36 28|  77.8 29 26|  89.7 7 2| 28.6
YICH i ALY A% 18 14| 77.8 17 14| 82.4 1 0 0.0
AR AR AR R P A 40 31| 775 36 30 83.3 4 1| 25.0
<HLEMRA AL AR 31 24| 77.4 28 24|  85.7 3 0 0.0
JE VR o PR PR At B A 13 10| 76.9 10 10| 100.0 3 0 0.0
Vel AR R S5 R 13 10  76.9 13 10| 76.9 0 0 0.0
BESYMCAE R AL P 17 13|  76.5 15 13|  86.7 2 0 0.0
R NEY TR N 21 16|  76.2 16 15|  93.8 5 1| 20.0
INVUNEE N 21 16|  76.2 18 16| 88.9 3 0 0.0
gL EE A Y IR N RSy U 21 16|  76.2 19 16| 84.2 2 0 0.0
2 JE R A R P 22 B A T 5 (A ) 16 12| 75.0 14 10| 71.4 2 2| 100.0
MHRT 7 I — PR 16 12| 75.0 14 12|  85.7 2 0 0.0
LoD I i fE AL P AR 16 12| 75.0 15 12| 80.0 1 0 0.0
BB LR 2 B P 2% 27 20 74.1 23 20/  87.0 4 0 0.0
Zan TR NS 27 20  74.1 25 20[  80.0 2 0 0.0
DN AE AL B AR 50 37| 74.0 43 36| 83.7 7 1| 14.3
DU ] R S A R 37 27 73.0 36 26|  72.2 1 1| 100.0
BT SIS AE B 220 o5 ) 2 7 S 2 22 16|  72.7 20 15| 75.0 2 1| 50.0
U ] 2= et kB P AR 22 16| 72.7 20 15| 75.0 2 1| 50.0
NI=T Lo I B TSR AR P A 58 42| 72.4 50 38| 76.0 8 4| 50.0
e R ARE LR P AR 21 15|  71.4 18 15|  83.3 3 0 0.0
RIROR B AR 7 14 10 71.4 13 9  69.2 1 1| 100.0
ENIE G NES 14 10| 71.4 14 10| 71.4 0 0 0.0
B mIR R AL E R I L oY 31 22| 71.0 26 19|  73.1 5 3| 60.0
) A AL P AR 27 19|  70.4 21 18|  85.7 6 1| 16.7
T o] = AR e A AN — > B P R 30 21 70.0 24 19]  79.2 6 2| 33.3
BRI - 1k O AR AR 20 14| 70.0 14 14| 100.0 6 0 0.0
FUA AR AR R A 20 14|  70.0 19 14| 73.7 1 0 0.0
DA TRAE AR P AR 10 7| 70.0 7 6| 85.7 3 1| 33.3
B ] S A Ak B P AR 10 71 70.0 10 71 70.0 0 0 0.0

(125~156%%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
1 [ R AR R P AR 10 7| 70.0 8 6| 75.0 2 1| 50.0
N R IR S e A Y 5 36 25 69.4 32 23| 71.9 4 2| 50.0
P [ A I T AR 26 18]  69.2 25 18|  72.0 1 0 0.0
PR ALRE AL 13 9 69.2 12 9]  75.0 1 0 0.0
RHE AL e T 35 24|  68.6 26 23|  88.5 9 1l 11.1
TAT AL 2 A A B P AR 31 21|  67.7 26 18]  69.2 5 3| 60.0
JENIE SR IR e 2 5 48 32 66.7 39 27| 69.2 9 5| 55.6
& R E LR P A 36 24| 66.7 28 22|  78.6 8 2| 25.0
PR b - (7 R (AR 18 12| 66.7 14 12|  85.7 4 0 0.0
V)—Z 8t & AR — Y B4R 12 8|  66.7 10 8  80.0 2 0 0.0
FFLFi A RC R A A R P AR 12 8| 66.7 11 8|  72.7 1 0 0.0
A F 5k = A Ak B P AR 29 19]  65.5 26 19]  73.1 3 0 0.0
BURAR AL P2 (A kL 34 26 17| 65.4 25 17| 68.0 1 0 0.0
BERS /S — XK AR AL B S0 O S AR 23 15|  65.2 16 12| 75.0 7 3| 429
A o]tk 23 15|  65.2 20 14|  70.0 3 1| 33.3
AR R PR B BT 7% 68 44| 64.7 61 43| 70.5 7 1| 14.3
FAK 1LY MC A E B Ak B P 2 34 22|  64.7 24 20|  83.3 10 2| 20.0
P oE Ly VIEBRE R AR AR 17 11| 64.7 17 11| 64.7 0 0 0.0
JFH P R AR A B P A 45 29| 64.4 41 26| 63.4 4 3l 75.0
78 BAE R B R 7 14 9] 64.3 13 9|  69.2 1 0 0.0
bR E AR P A 25 16|  64.0 17 16|  94.1 8 0 0.0
B2 7 U A 2 ] 38 24|  63.2 31 24|  77.4 7 0 0.0
il ERE ALY 7R 66 41 62.1 59 41| 69.5 7 0 0.0
T BRI AR 21 13| 61.9 17 10 58.8 4 3l 75.0
RZEb @AY 26 16| 61.5 23 15|  65.2 3 1| 33.3
SR AR A 13 8| 61.5 11 8| 72.7 2 0 0.0
MR AU T — g @ ukEBE 23 14|  60.9 20 14| 70.0 3 0 0.0
VR AL T 5 R (R B P AR A Sk R R 40 24 60.0 34 20 58.8 6 4 66.7
R EREZ &G B4 25 15| 60.0 23 14| 60.9 2 1|  50.0
WA e Ak R A% 32 19|  59.4 32 19|  59.4 0 0 0.0
A ASEAEEE B A (I SR 77 45|  58.4 68 42|  61.8 9 3| 33.3
RN B AR 36 21|  58.3 33 20|  60.6 3 1| 33.3

(157~188%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
HRXYMCAEREMR AL 542 45 26| 57.8 36 26|  72.2 9 0 0.0
HES S B R PR R 73 42| 57.5 66 41 62.1 7 1| 14.3
HE 224 o~ = T ERE AR AR 36 20|  55.6 28 19  67.9 8 1| 125
KIFHR T [ SRR AL P A s 8 B 52 27 15|  55.6 25 15| 60.0 2 0 0.0
Tl o R R R 11 6| 54.5 11 6| 54.5 0 0 0.0
H LN I R 34 18]  52.9 22 171 77.3 12 1 8.3
YMCABEFEAR AL 245 36 19| 52.8 33 19| 57.6 3 0 0.0
P IR AR AL R 19 10| 52.6 17 10| 58.8 2 0 0.0
PR HE AL 1 K2 (s ha ) 21 11| 52.4 20 11| 55.0 1 0 0.0
Jic ] Rk B P A 23 12|  52.2 19 11| 57.9 4 1| 25.0
A S 15 e AR P AR 23 12|  52.2 21 12| 57.1 2 0 0.0
BAVE th AR P AR 79 41| 51.9 70 40|  57.1 9 1| 11.1
Hh oA b [ BT AR 16 8|  50.0 14 8| 57.1 2 0 0.0
7 L =1 7 B A s 12 6| 50.0 5 4| 80.0 7 2| 28.6
5 T R AR P P 28 (A SRR 10 5| 50.0 8 5| 62.5 2 0 0.0
P B AR 52 25| 48.1 45 23|  51.1 7 2| 28.6
HUR R AL 2 (I A AL 24 103 49|  47.6 78 44|  56.4 25 5[ 20.0
PE LN RS R R 36 17| 47.2 26 17|  65.4 10 0 0.0
IS e A 17 8| 47.1 13 8| 61.5 4 0 0.0
B R B FIE B AR 49 23| 46.9 38 22| 57.9 11 1 9.1
B 22 L e R AL Y 15 7| 46.7 7 6| 85.7 8 1| 125
TP 2268 36 B 72D 2R B P 2245 64 29|  45.3 52 28| 53.8 12 1 8.3
FATY MCA E Bt LR P 75 20 9  45.0 15 9]  60.0 5 0 0.0
JI i ] I [ s AL B P A 18 8| 44.4 16 7| 43.8 2 1| 50.0
SR AL 19 8|  42.1 17 8| 47.1 2 0 0.0
RN 2l B IR L R P A% 41 17 41.5 32 16|  50.0 9 1| 11.1
L o R B P AR 17 7| 41.2 14 7| 50.0 3 0 0.0
BAVE PR B LR AR 33 13| 39.4 25 12| 48.0 8 1| 125
A 41 16| 39.0 39 16|  41.0 2 0 0.0
MU AN YT — > a AL P AR 33 12|  36.4 27 12| 44.4 6 0 0.0
FERERKF 21 7 33.3 21 71 33.3 0 0 0.0
KB A AL EE P e (s Ra ) 12 4] 33.3 12 4] 33.3 0 0 0.0

(189~220#%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
TR LA i Ak B P AR 55 18]  32.7 46 17 37.0 9 1| 11.1
R P S e B [ SRR AL R L 31 10 32.3 21 10| 47.6 10 0 0.0
R 2 A SR R P P s FE RS 47 15 31.9 35 15| 42.9 12 0 0.0
ZIAERRAE AL AR 47 15| 31.9 39 14|  35.9 8 1| 12,5
T EE AR P 23 7| 30.4 16 7| 43.8 7 0 0.0
KRBT 1w AR A5 92 26|  28.3 89 25| 28.1 3 1| 33.3
T AT AR AR R A5 106 29| 274 64 29|  45.3 42 0 0.0
TR i - BV R E AR 33 9 27.3 25 9  36.0 8 0 0.0
Ve I+ R B R 49 13|  26.5 34 12|  35.3 15 1 6.7
A AL R B P AR 23 6| 26.1 19 6| 31.6 4 0 0.0
ZZA BRGNP AL A IR 23 6| 26.1 20 5/ 25.0 3 1| 33.3
ERRE Y R ABUCARAERT P AL 27 7| 25.9 24 7| 29.2 3 0 0.0
R LA m 16 4] 25.0 13 3| 23.1 3 1| 33.3
ANENE s A i 12 3l 25.0 0 0 0.0 12 3| 25.0
WARE AT AT — 27 [ R ik B P A 42 10| 23.8 33 10  30.3 9 0 0.0
KRAI 2 =T 4T — T — B AR 41 9] 22.0 37 7| 18.9 4 2| 50.0
CRRGEE S v SR ES| S L T P 33 7| 21.2 28 6| 21.4 5 1| 20.0
BA R AL R A 41 8| 19.5 20 71 35.0 21 1 4.8
HETH AT R AL R A5 39 71 17.9 32 6| 18.8 7 1| 14.3
UU A T Ak P 37 6| 16.2 18 5/ 27.8 19 1 5.3
PR AR TE LB P A 28 4 14.3 28 4] 14.3 0 0 0.0
Ao 1L A LA A B P AR 21 3l 14.3 11 1 9.1 10 2| 20.0
iR ERAE ALY R 21 3| 14.3 21 3| 14.3 0 0 0.0
DN PNE S50 N 73 10 13.7 59 9| 15.3 14 1 7.1
HE AL R B IR R 22 23 3l 13.0 19 2| 10.5 4 1| 25.0
EA = Y CAVAPEIE S ¥ (| s 56 71 125 51 7| 13.7 5 0 0.0
FORERAE R B M 27 3l 11.1 10 1| 10.0 17 2| 11.8
e FH A 30 3l 10.0 19 3| 15.8 11 0 0.0
FHBERIRAL L~ (k1 LR 30 3l 10.0 29 3l 10.3 1 0 0.0
AOIE B ALY 7R 51 4 7.8 42 3 7.1 9 1l 11.1
JUIN IR AT — Y B 2245 65 5 7.7 28 5/ 17.9 37 0 0.0
R Y eI =YLl 19 1 5.3 11 1 9.1 8 0 0.0

(221~252#%)




RIREEA TR R /a\:f%ii;& kR |ZBEK /a\f;%z kR |ZBEK /a\i:;&:%z B
SO E R AL 25 1 4.0 25 1 4.0 0 0.0
%3 BT R AL R e e 30 0 0.0 30 0 0.0 0 0.0
U EF K 23 0 0.0 23 0 0.0 0 0.0

(253~255f%)



(ZBRE 10 A RiH)

R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
KIF IR AR AR P 28 K0 9 9] 100.0 9 9| 100.0 0 0 0.0
FE IR 4 HH K 9 9| 100.0 9 9| 100.0 0 0 0.0
AEBRIR 72 9 9| 100.0 9 9| 100.0 0 0 0.0
ISy NES 9 9] 100.0 9 9| 100.0 0 0 0.0
KIFAR — AR T 18 kB A5 8 8| 100.0 8 8| 100.0 0 0 0.0
IR S [E BRR 7 8 8| 100.0 7 7| 100.0 1 1| 100.0
WA E R AL (N @ R 8 8| 100.0 8 8| 100.0 0 0 0.0
Bl 8 8| 100.0 8 8| 100.0 0 0 0.0
EMI T ERENE R P AR 8 8| 100.0 8 8| 100.0 0 0 0.0
V=X VT — 7 B R 8 8| 100.0 8 8| 100.0 0 0 0.0
(PR PN 8 8| 100.0 8 8| 100.0 0 0 0.0
AR [ A Ak B P AR 8 8| 100.0 8 8| 100.0 0 0 0.0
HB XY 8 8| 100.0 8 8| 100.0 0 0 0.0
B8 R RSP 7 7| 100.0 7 7| 100.0 0 0 0.0
FE N EE AR P o A 7 7| 100.0 7 7| 100.0 0 0 0.0
T AR O R 6 6| 100.0 5 5/ 100.0 1 1| 100.0
AVRIATEELH R 7 6 6| 100.0 5 5 100.0 1 1| 100.0
KB EI B AL B P A 6 6| 100.0 6 6| 100.0 0 0 0.0
HH B R 6 6| 100.0 6 6| 100.0 0 0 0.0
H 7R B R 6 6| 100.0 6 6| 100.0 0 0 0.0
EEP ISP PR i NES 6 6| 100.0 6 6| 100.0 0 0 0.0
FIRF AL L R 7 6 6| 100.0 5 5| 100.0 1 1| 100.0
L AR R 6 6| 100.0 6 6/ 100.0 0 0 0.0
LA ST K 6 6| 100.0 6 6| 100.0 0 0 0.0
HE TH K 5 5 100.0 5 5| 100.0 0 0 0.0
RIS @kl Loy 5 5| 100.0 5 5| 100.0 0 0 0.0
7 YRANT 77— K 5 5| 100.0 5 5| 100.0 0 0 0.0
R iy: [BEwNE SR N 5 5 100.0 5 5/ 100.0 0 0 0.0
INSR'E ONE 5 5 100.0 5 5/ 100.0 0 0 0.0
A PR R 5 5| 100.0 5 5/ 100.0 0 0 0.0
LA 5 5 100.0 5 5/ 100.0 0 0 0.0
AVt AR 2 K 4 4| 100.0 4 4| 100.0 0 0 0.0

(1~32F%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
FUPN PR AR Al R 27 4 4] 100.0 4 4| 100.0 0 0 0.0
FLIRIZE - Bt ik gl B B P s 4 4] 100.0 4 4| 100.0 0 0 0.0
ileBEBEAEL AR 4 4| 100.0 4 4| 100.0 0 0 0.0
WAL S R 4 4] 100.0 4 4| 100.0 0 0 0.0
A AREERRY 4 4| 100.0 4 4| 100.0 0 0 0.0
JekEtEAktr B B 4 4{ 100.0 4 4| 100.0 0 0 0.0
[i] [ L1 B N7 3 3| 100.0 3 3| 100.0 0 0 0.0
Rl EFR R 3 3 100.0 3 3| 100.0 0 0 0.0
EW i FE R 3 3| 100.0 2 2| 100.0 1 1| 100.0
1 P FE AR B R R 3 3| 100.0 3 3 100.0 0 0 0.0
JUINFE AR 2 2| 100.0 2 2| 100.0 0 0 0.0
R SN 2 2| 100.0 2 2| 100.0 0 0 0.0
IR B AL PR R (i R B 2 2| 100.0 2 2| 100.0 0 0 0.0
HEZNESEPNES 1 1| 100.0 1 1| 100.0 0 0 0.0
BRI 2 F K 1 1| 100.0 1 1| 100.0 0 0 0.0
RS AR R e (I ) 1 1| 100.0 0 0 0.0 1 1| 100.0
Ve T IR AR 5 1 1| 100.0 0 0 0.0 1 1| 100.0
PRy 1 1| 100.0 1 1| 100.0 0 0 0.0
HOL S B HOR Y 1 1| 100.0 1 1| 100.0 0 0 0.0
I NS ey T A e i 1 1| 100.0 1 1| 100.0 0 0 0.0
LR 1 1| 100.0 1 1| 100.0 0 0 0.0
FelRi 2o K7 1 1| 100.0 0 0 0.0 1 1| 100.0
A RER 1 1| 100.0 0 0 0.0 1 1| 100.0
IR A R B P AR (RE @ AR 1 1| 100.0 0 0 0.0 1 1| 100.0
V) IR (S R R R ORI A S0 1 1 100.0 1 1{ 100.0 0 0 0.0
RINAL VG R P A 9 8| 88.9 9 8| 88.9 0 0 0.0
JUPH R BT R (B H R AR ) 9 8| 88.9 9 8| 88.9 0 0 0.0
(WG e R A i) 9 8 88.9 9 8| 88.9 0 0 0.0
BrEa7T Loy 9 8| 88.9 8 8| 100.0 1 0 0.0
KRIFI T AR P FRE AR 8 7| 875 7 7| 100.0 1 0 0.0
KRIFIRE SN P PR RE AR 8 7| 875 7 7| 100.0 1 0 0.0
] PR =R R AR AL R 8 7| 875 7 7| 100.0 1 0 0.0

(33~641%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
T LR PR E R AR RE P AR 8 7| 875 8 7| 875 0 0 0.0
RIFR T AR [ R w2 R A 7 6| 85.7 7 6| 85.7 0 0 0.0
FEHE AR 7 6| 85.7 7 6| 85.7 0 0 0.0
SLATE A B 7 6| 85.7 6 6| 100.0 1 0 0.0
RIS e -SRI S A ) 6 5|  83.3 5 5| 100.0 1 0 0.0
FAEH AR — Y ER G EF 7K 6 5/ 83.3 6 5/ 83.3 0 0 0.0
DU R = SF R R R 5 4] 80.0 4 3l 75.0 1 1| 100.0
H R A R 5 4] 80.0 5 4| 80.0 0 0 0.0
FRAE B A AR P AR A () — 2y LT — T —Fh) 9 7 77.8 8 7 87.5 1 0 0.0
T L A A B P AR 9 71 778 7 7| 100.0 2 0 0.0
IR ALER LY 9 71 778 8 7| 87.5 1 0 0.0
B/ S — AR AR AL P 2 (I R @ kB AR 4 3 75.0 4 3 75.0 0 0 0.0
RS 4 3l 75.0 4 3| 75.0 0 0 0.0
1% U7 ERRAE AL R P AR 7 5| 71.4 4 4| 100.0 3 1| 33.3
JEE IR IS 2R R 7 5|  71.4 7 5|  71.4 0 0 0.0
SRS TRy e 6 4] 66.7 6 4| 66.7 0 0 0.0
LB R AL 6 4] 66.7 6 4| 66.7 0 0 0.0
2T K 3 2|  66.7 2 2| 100.0 1 0 0.0
B P AR ALY Y — 2L P I 7 4] 57.1 4 3] 75.0 3 1| 33.3
IBIESEES N e N ke 3 6 3l 50.0 5 3] 60.0 1 0 0.0
B O L 2R (A SRR 6 3l 50.0 6 3] 50.0 0 0 0.0
R 2 1| 50.0 2 1| 50.0 0 0 0.0
P MR T 78 P 2 (R L B P R AR A R AL 2 1 50.0 0 0 0.0 2 1 50.0
VR AR AT AR TR AR AL ) 2 1| 50.0 0 0 0.0 2 1| 50.0
KPR UEEL R (@ PR 2 K v /SR —R) 5 9 40.0 5 9 40.0 0 0 0.0
NETE 5 %5 7 d i AL B P A 9 3l 33.3 8 3| 37.5 1 0 0.0
OURXT TR AR 9 3] 33.3 9 3| 33.3 0 0 0.0
HUR S B T TR AR AL R 5 3 1| 33.3 0 0 0.0 3 1| 33.3
CREE S ST A E 5 7 2|  28.6 7 2| 28.6 0 0 0.0
[ BR A AL R P A L AR 7 2|  28.6 7 2| 28.6 0 0 0.0
S EAE AL RE 224 9 1| 11.1 6 1| 16.7 3 0 0.0
O E BR @ AL RE P 22 4 0 0.0 0 0 0.0 4 0 0.0

(65~964%)




R4 = 1
TRER| OB OWER | ZRE | AsE | AR [ZRE K| SKER| AkE
R R AR AL R P BOK PR 2 0 0.0 0 0 0.0 2 0 0.0
K AR AL R M 2 0 0.0 0 0 0.0 2 0 0.0
NS i NE el 1 0 0.0 0 0 0.0 1 0 0.0
NS RAMEFSE N 1 0 0.0 0 0 0.0 1 0 0.0
W PR T AL S (R AR 1 0 0.0 0 0 0.0 1 0 0.0
NP B S R R SR 1 0 0.0 0 0 0.0 1 0 0.0
i [o] [ S K77 1 0 0.0 0 0 0.0 1 0 0.0
B 3E 1R 1 0 0.0 1 0 0.0 0 0 0.0
(97~104#%2)

(&5
2t 7,144| 4,667| 65.3] 6,226| 4,501 72.3] 918  166| 18.1

(359%)




% 3 4%

I E W e 359

QOFBIERN — (BRZAEEZROTZZERE)

iR (SHFRIR

)

2 1SR (STSFEAH 1AL ST4ESHSIH £ T) WCHEEUET) LB Iz (e T)

T HiABDE,  [BERE) iﬁuﬁf“ (BF3ME3H3IH) EFTIZEERET) LIEFHETH S,

(RSP AEZ RN ) 12X, P EZBRE DA OINEELZ G T 285 25T,
(ZBRE10ALLE)

Rl R S So—
TEREH| A E | AR | ZBREK| OB AR | ZRE K| AkE k| AR

ERN T NES 33 33| 100.0 32 32| 100.0 1 1| 100.0
AL SCBOR R ) R0 30 30[ 100.0 30 30[ 100.0 0 0 0.0
Ea LSV NE R i NE 29 29 100.0 29 29| 100.0 0 0 0.0
] BR = PR AR AL R 25 25 100.0 25 25 100.0 0 0 0.0
B VE “EhIF R AR AL T e 23 23| 100.0 22 22| 100.0 1 1| 100.0
i N BT K 21 21| 100.0 21 21| 100.0 0 0 0.0
YN EIFSE N 21 21 100.0 20 20( 100.0 1 1| 100.0
RAbE AR 21 21 100.0 20 20( 100.0 1 1| 100.0
VSR S R NES 19 19 100.0 18 18| 100.0 1 1| 100.0
B SRt 2 7 B 19 19| 100.0 19 19| 100.0 0 0 0.0
HERS: 19 19| 100.0 18 18| 100.0 1 1| 100.0
B YR i NES 18 18| 100.0 18 18| 100.0 0 0 0.0
Ak B AR [ A A B P AR 18 18| 100.0 18 18| 100.0 0 0 0.0
HR SR AL R P PR 17 17| 100.0 16 16| 100.0 1 1| 100.0
IGL [ A AL EE P A 16 16| 100.0 15 15| 100.0 1 1| 100.0
KRR R B 18 Ak P i T3 16 16| 100.0 16 16| 100.0 0 0 0.0
Kot WA= 16 16| 100.0 16 16| 100.0 0 0 0.0
BT e K 16 16| 100.0 16 16| 100.0 0 0 0.0

T RN A AR B P L T 16 16| 100.0 16 16| 100.0 0 0 0.0
GIPnV S e NES 15 15| 100.0 14 14| 100.0 1 1| 100.0
HEYMCA FHBEE RS LR 7 14 14| 100.0 14 14| 100.0 0 0 0.0
NEES S A 5 14 14| 100.0 14 14| 100.0 0 0 0.0
5 L s L P SRR (R 5 S 2T e 14 14| 100.0 14 14| 100.0 0 0 0.0
MR AE YT — a8 HE T 14 14| 100.0 14 14| 100.0 0 0 0.0
R ZEG - EHE - It B 14 14| 100.0 13 13| 100.0 1 1| 100.0
i IR = PR AR R 22 14 14| 100.0 14 14| 100.0 0 0 0.0
T —VIERAE AL P AR 13 13| 100.0 13 13| 100.0 0 0 0.0
JEE VR Jo5 B R Ak R P A 13 13| 100.0 13 13| 100.0 0 0 0.0

(1~28)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
di ) T R A B P A 13 13| 100.0 13 13| 100.0 0 0 0.0
HOR E IR EAE AL R P 22 13 13| 100.0 12 12| 100.0 1 1| 100.0
o5 BT S AR AR P A5 13 13| 100.0 13 13| 100.0 0 0 0.0
PRSI F AL R AR 12 12| 100.0 12 12| 100.0 0 0 0.0
SLAEAB AR 12 12| 100.0 11 11| 100.0 1 1| 100.0
+ 3R AR 12 12| 100.0 12 12| 100.0 0 0 0.0
74 [EIBROR 7 12 12| 100.0 11 11| 100.0 1 1| 100.0
HWNEITHEZ E BB AR AR 12 12| 100.0 12 12| 100.0 0 0 0.0
PR AR b - (7R REL AR 12 12| 100.0 12 12| 100.0 0 0 0.0
BRI R R P 12 12| 100.0 12 12| 100.0 0 0 0.0
SR Sy NES 12 12| 100.0 11 11| 100.0 1 1| 100.0
R R AR AL 12 12| 100.0 12 12| 100.0 0 0 0.0
At R 12 12| 100.0 12 12| 100.0 0 0 0.0
B W [ R PR AR 12 12| 100.0 12 12| 100.0 0 0 0.0
KINFE HEE AL RE T 54 11 11| 100.0 11 11| 100.0 0 0 0.0
RIFEFRN R ¥ R A R B P8 LR 11 11| 100.0 11 11| 100.0 0 0 0.0
HRIFU AR L S R AR AL 5 5 270 RS 11 11{ 100.0 11 11{ 100.0 0 0 0.0
FRZR ) TR ST AR R AR R 11 11| 100.0 10 10| 100.0 1 1| 100.0
ES| S e P =R E i 11 11| 100.0 11 11| 100.0 0 0 0.0
SO R 11 11| 100.0 11 11| 100.0 0 0 0.0
E(SNES SR liNEl 11 11| 100.0 10 10| 100.0 1 1| 100.0
YMCAKF AR AL 22 11 11| 100.0 11 11| 100.0 0 0 0.0
SR IO S TR pNES 10 10| 100.0 9 9| 100.0 1 1| 100.0
FRAE EREAE B LY 10 10[ 100.0 10 10| 100.0 0 0 0.0
JUN RN T — a2 10 10| 100.0 9 9| 100.0 1 1| 100.0
H g Ak e — S L BE R AR 10 10| 100.0 10 10| 100.0 0 0 0.0
LI PRI AL R P 10 10[ 100.0 8 8| 100.0 2 2| 100.0
HOR R AR 10 10| 100.0 10 10| 100.0 0 0 0.0
BN Sy NES 10 10| 100.0 10 10| 100.0 0 0 0.0
by E AR P A 10 10[ 100.0 10 10{ 100.0 0 0 0.0
[ L [ B P A% 46 45 97.8 46 45| 97.8 0 0 0.0
il EREE ALY 7R 37 36| 97.3 36 36| 100.0 1 0 0.0

(29~60#%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
BB EREAEI L oY (AR 36 35| 97.2 36 35| 97.2 0 0 0.0
WIS E AR AL R P 22 30 29|  96.7 30 29|  96.7 0 0 0.0
B MR R R 27 26|  96.3 25 25 100.0 2 1| 50.0
LM = R 5t L B A 25 24| 96.0 24 24 100.0 1 0 0.0
H AL T () — L T ) 24 23|  95.8 23 23] 100.0 1 0 0.0
AR 2z 7R 23 22| 95.7 23 22| 95.7 0 0 0.0
N =T 7L M2 B iR P 20 23 22| 95.7 23 22| 95.7 0 0 0.0
R SR AR AL T P S B A 22 21|  95.5 22 21|  95.5 0 0 0.0
il R ALK 22 21|  95.5 20 20( 100.0 2 1| 50.0
BER P BRSSP 21 20|  95.2 21 20| 95.2 0 0 0.0
A= 7t AR AR P AR 20 19|  95.0 19 18] 94.7 1 1| 100.0
4 B ER W EE AL P AR 20 19|  95.0 20 19|  95.0 0 0 0.0
KB R AL R 19 18|  94.7 19 18| 94.7 0 0 0.0
bR B AL BT A% 19 18] 94.7 19 18] 94.7 0 0 0.0
HER P e R PR R 36 34|  94.4 35 33 94.3 1 1| 100.0
R NESY TRy N 17 16|  94.1 15 15| 100.0 2 1| 50.0
{AT AL 2= A A B P AR 17 16|  94.1 14 14| 100.0 3 2| 66.7
EZEbEaEL Y 17 16|  94.1 15 15| 100.0 2 1| 50.0
BAVE th LR P AR 33 31 93.9 32 30  93.8 1 1| 100.0
HURR AL 2 (I A AL 24 1) 32 30 93.8 30 29|  96.7 2 1| 50.0
HE SR BE PR 22 75 ) e p 7 S 2 16 15| 93.8 15 14| 93.3 1 1| 100.0
R 5 99 Bl S A b B P A R AR 16 15| 93.8 15 15| 100.0 1 0 0.0
ri KN AR R PH AR 16 15|  93.8 16 15|  93.8 0 0 0.0
HOLYMCA [E R AR 55 16 15| 93.8 15 15| 100.0 1 0 0.0
IR B AE R P R (I Akt 16 15| 93.8 15 15| 100.0 1 0 0.0
A AR AL P 2248 (@ AL 30 28  93.3 28 26|  92.9 2 2| 100.0
WA L R 750 15 14|  93.3 13 13| 100.0 2 1| 50.0
v W PR R A R 27 15 14| 93.3 14 14| 100.0 1 0 0.0
EIECRRGE: N 15 14| 93.3 14 13| 92.9 1 1| 100.0
AR 2~ — R [ A AL B P AR 15 14|  93.3 15 14|  93.3 0 0 0.0
GINEIIES) -3 R Ny PR - Nt 15 14 93.3 14 14| 100.0 1 0 0.0
RN ALER A 15 14| 93.3 15 14|  93.3 0 0 0.0

(61~921%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
NSO X R IR N By iy 43 40[  93.0 41 39|  95.1 2 1| 50.0
)RS [ 9 5 B K 5 14 13| 92.9 13 13| 100.0 1 0 0.0
A R 4 B P 2 (3 gk L) 14 13 92.9 12 12| 100.0 2 1| 50.0
IURESNE=Y 7R N 27 25 92.6 26 24| 92.3 1 1| 100.0
BN R NE S ARSS R TR A 39 36|  92.3 37 35|  94.6 2 1| 50.0
TV 7 E AR AR P R 26 24 92.3 25 23] 92.0 1 1| 100.0
AN TR NES 26 24| 92.3 26 24| 92.3 0 0 0.0
T BAtE LR P AR 13 12| 92.3 9 9| 100.0 4 3l  75.0
LoD I i fE AL P AR 13 12| 92.3 13 12| 92.3 0 0 0.0
Ji Fo [E R OR 57 13 12| 92.3 12 12| 100.0 1 0 0.0
At [ [ 9 B A AL B P 22 13 12| 92.3 13 12| 92.3 0 0 0.0
RN E AR 12 11| 91.7 12 11| 91.7 0 0 0.0
I TR R R R P 2 R B TR 12 11| 917 9 9| 100.0 3 2| 66.7
A AR 58K B AL O 12 11 91.7 12 11| 91.7 0 0 0.0
~ =T EREE AL I PR 12 11| 91.7 12 11| 91.7 0 0 0.0
wi oo B LR R AL R P R 35 32 914 32 31| 96.9 3 1| 33.3
7 L R A R R 7 22 20[  90.9 21 20[  95.2 1 0 0.0
S R A E 5 22 20| 90.9 20 19| 95.0 2 1| 50.0
JEB IR o = R At B A 11 10 90.9 10 10| 100.0 1 0 0.0
B W R PR U R P A5 11 10| 90.9 10 10| 100.0 1 0 0.0
il& R 21 19]  90.5 21 19]  90.5 0 0 0.0
R AN I MR R 20 18| 90.0 20 18| 90.0 0 0 0.0
RELFRKF 10 9  90.0 9 9| 100.0 1 0 0.0
RIREIRARAERE Y 545 10 9  90.0 10 9l  90.0 0 0 0.0
P UE Ly VIEBRE R AR P AR 10 9  90.0 10 9l  90.0 0 0 0.0
P B T AL B P AR R AR 29 26|  89.7 26 25| 96.2 3 1| 33.3
B L R 29 26|  89.7 28 26|  92.9 1 0 0.0
EMNAR = ERE AR AR 5L 19 17| 89.5 19 17| 89.5 0 0 0.0
RS TN S TR e 19 17 89.5 19 17  89.5 0 0 0.0
B EfEAEORE R 37 33| 89.2 36 33 91.7 1 0 0.0
IR SN 7 NE SRl NE Sl 27 24|  88.9 25 23| 92.0 2 1| 50.0
Il 5 BT 5 A AL B P AR 34 30[ 88.2 33 30 90.9 1 0 0.0

(93~124%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
BEIS PRI AR AL R 30 24 21| 87.5 24 21| 87.5 0 0 0.0
AT [ A B P A 16 14| 87.5 16 14| 87.5 0 0 0.0
B R AL E R I Loy 23 20  87.0 19 18] 94.7 4 2| 50.0
JefEE Y R AME LR P AR 15 13| 86.7 13 13| 100.0 2 0 0.0
FH (5] A AT 27 Rl R 35 30[  85.7 30 27| 90.0 5 3| 60.0
KE R 1B P R 21 18]  85.7 19 18] 94.7 2 0 0.0
A R AR R T 14 12|  85.7 12 12| 100.0 2 0 0.0
YICE#Mm AL 7 14 12|  85.7 13 12| 92.3 1 0 0.0
HUER U AN T 7 — KEFA ek P 20 17 85.0 17 16|  94.1 3 1| 33.3
AbHEE T R R AT 20 17| 85.0 18 17| 94.4 2 0 0.0
) 1 Ak B P Az 20 17| 85.0 16 16| 100.0 4 1| 25.0
PG F R 19 16| 84.2 17 16|  94.1 2 0 0.0
EIptha SUBM 7R 19 16| 84.2 19 16| 84.2 0 0 0.0
JEJ R AL R P A5 25 21|  84.0 20 19| 95.0 5 2| 40.0
HT H @ AL OR B B4R 37 31| 83.8 35 30  85.7 2 1| 50.0
ZAn e LY TR NS 24 20  83.3 22 20 90.9 2 0 0.0
ElIF RN 12 10|  83.3 12 10| 83.3 0 0 0.0
P IR AR AL R 12 10/ 83.3 11 10| 90.9 1 0 0.0
Vel A AR PR RS 12 10| 83.3 12 10 83.3 0 0 0.0
PRI b - (7 KPR (T A AL R 12 10|  83.3 10 10| 100.0 2 0 0.0
FOER LA i Ak B P AR 12 10|  83.3 10 9l  90.0 2 1| 50.0
P E R AL R 23 19| 82.6 23 19| 82.6 0 0 0.0
HE 22 o~ = T R E AR AR 23 19| 82.6 21 18|  85.7 2 1| 50.0
77 AR AL B P AR 23 19| 82.6 21 19|  90.5 2 0 0.0
LIS SRR AR P R O R AR 17 14| 82.4 13 12| 92.3 4 2| 50.0
[ AR K7 17 14| 82.4 14 14| 100.0 3 0 0.0
GUSRE RIS E VSR iPNES 17 14| 82.4 17 14| 82.4 0 0 0.0
NI=T Lo I B TR HE R P 2 50 41| 82.0 43 37|  86.0 7 4| 57.1
R ietmpl 2P A 11 9| 81.8 11 9] 81.8 0 0 0.0
FERS S m bR P 2% 11 9| 81.8 9 8| 88.9 2 1| 50.0
(= e TR N 11 9] 81.8 9 8| 88.9 2 1| 50.0
AL S b7 R B P A 11 9] 81.8 9 8 88.9 2 1| 50.0

(125~156%%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
R EE AR PR 16 13|  81.3 14 13| 92.9 2 0 0.0
VR NET T R R (R B P AR A S R R 26 21 80.8 22 18 81.8 4 3 75.0
TS RE R AR P AR 25 20/ 80.0 23 20|  87.0 2 0 0.0
T[] R PR AR — Y B 224 25 20l 80.0 21 18|  85.7 4 2| 50.0
HUR AL S () A AR 34 ) 20 16| 80.0 19 16|  84.2 1 0 0.0
N0 = RN e i 15 12| 80.0 13 12| 92.3 2 0 0.0
FIRF B = B B P 15 12| 80.0 14 12|  85.7 1 0 0.0
a7 Lo 10 8 80.0 9 8| 88.9 1 0 0.0
—EH TR AR A 24 19]  79.2 20 19|  95.0 4 0 0.0
(O eNte Sy NE S TR NS 19 15| 78.9 16 15|  93.8 3 0 0.0
TLF )N B BT DARFE M A% 33 26|  78.8 28 25 89.3 5 1l 20.0
VN AE AL [ B P AR 45 35 77.8 39 34| 87.2 6 1| 16.7
RS Ak B P AR 36 28|  77.8 29 26|  89.7 7 2| 28.6
(RN R NE 18 14| 77.8 17 13| 76.5 1 1| 100.0
D B PR AR Ak B P AR 40 31 775 36 30 83.3 4 1| 25.0
<HLERBREALELM 2L 31 24| 77.4 28 24|  85.7 3 0 0.0
PN 3F S R ARGE PNE A O S R S ) 13 10 76.9 12 10|  83.3 1 0 0.0
JUPN R ELEA R 5 (f@ Ak} 13 10 76.9 8 8| 100.0 5 2| 40.0
AR A R P S 13 10 76.9 13 10| 76.9 0 0 0.0
A BERMEALRE Y A 17 13|  76.5 13 12| 92.3 4 1| 25.0
ZEESY MCA E R R LR 52 17 13| 76.5 15 13| 86.7 2 0 0.0
UNUYNITE = NE 21 16| 76.2 18 16| 88.9 3 0 0.0
AR R PR B B 7% 50 38| 76.0 47 38|  80.9 3 0 0.0
H LRI R 24 18  75.0 19 17| 89.5 5 1| 20.0
PN Ty Y RN 5 20 15| 75.0 17 14| 82.4 3 1| 33.3
B VE R B @ AP AR 16 12| 75.0 12 11| 91.7 4 1| 25.0
PR ALRE 5L 12 9  75.0 11 9] 81.8 1 0 0.0
AR L el R R 7 B P A 27 20  74.1 23 20|  87.0 4 0 0.0
TR P PR AR B P A 23 17 73.9 19 14| 73.7 4 3| 75.0
FUA AR AR R A 19 14|  73.7 18 14| 77.8 1 0 0.0
DU [ (= R fiE B P AR 22 16|  72.7 20 15| 75.0 2 1| 50.0
YMCA R AL R 7% 22 16| 72.7 20 16|  80.0 2 0 0.0

(157~188%)




R4 - R -

TRER| OB OWER | ZRE | AsE | AR [ZRE K| SKER| AkE
T 71 7 X — B AR 11 8| 727 9 8| 88.9 2 0 0.0
RIRRBEALR 7L 14 10| 71.4 13 9  69.2 1 1| 100.0
INUT e e PN A ONE LIRS Y 20 14| 70.0 14 14| 100.0 6 0 0.0
B R E R AL Lo 10 71 70.0 8 6| 75.0 2 1| 50.0
At [ S T U B P A 10 7 70.0 8 6| 75.0 2 1| 50.0
A AR ALY AR 36 24| 66.7 28 22| 78.6 8 2| 25.0
R Y NES 23 15|  65.2 20 14| 70.0 3 1| 33.3
S sy e A 38 24|  63.2 31 24|  77.4 7 0 0.0
RN 27 ] = Rl B P AR 16 10| 62.5 12 9]  75.0 4 1| 25.0
N TNES TR PN 12 6| 50.0 9 6| 66.7 3 0 0.0

(189~198#)




(ZBRE 10 A RiH)

R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
KIF IR AR AR P 28 K0 9 9] 100.0 9 9| 100.0 0 0 0.0
oy 1 k= 9 9| 100.0 9 9| 100.0 0 0 0.0
AEBRIR 72 9 9| 100.0 9 9| 100.0 0 0 0.0
ISy NES 9 9] 100.0 9 9| 100.0 0 0 0.0
B IR S E R OR 7 8 8| 100.0 7 7| 100.0 1 1| 100.0
W R B AL P R (N i@ R 8 8| 100.0 8 8| 100.0 0 0 0.0
BliearipNes 8 8| 100.0 8 8| 100.0 0 0 0.0
V= LT — 7 BE R SRR 8 8| 100.0 8 8| 100.0 0 0 0.0
PEILMN R 8 8| 100.0 8 8| 100.0 0 0 0.0
HB XY 8 8| 100.0 8 8| 100.0 0 0 0.0
R PR AR P22 B R B (A ) 7 7| 100.0 5 5/ 100.0 2 2| 100.0
RIFARN— R B AL P A 7 7| 100.0 7 7| 100.0 0 0 0.0
E BRI R AR AL R 7 7| 100.0 7 7| 100.0 0 0 0.0
B8 R RSP 7 7| 100.0 7 7| 100.0 0 0 0.0
FE N EE AR P o A 7 7| 100.0 7 7| 100.0 0 0 0.0
AT NES S R e A e i 7 7| 100.0 7 7| 100.0 0 0 0.0
H AR IR R 6 6| 100.0 5 5 100.0 1 1| 100.0
AVRIATEELH R 7 6 6| 100.0 5 5| 100.0 1 1| 100.0
KBl [T B e A B P A5 6 6| 100.0 6 6| 100.0 0 0 0.0
B A AL B A 6 6| 100.0 5 5/ 100.0 1 1| 100.0
b IS G NE S 6 6| 100.0 6 6| 100.0 0 0 0.0
H R 5 B K7 6 6| 100.0 6 6| 100.0 0 0 0.0
1E M AT HEAE AP AR 6 6| 100.0 6 6| 100.0 0 0 0.0
EEP ISP PR i NES 6 6| 100.0 6 6| 100.0 0 0 0.0
B [ S 0AR AL B P A 6 6| 100.0 6 6| 100.0 0 0 0.0
FRIRHf L R 6 6| 100.0 5 5/ 100.0 1 1| 100.0
L PSSR R 7 6 6| 100.0 6 6| 100.0 0 0 0.0
LIFBLIRAT K 6 6| 100.0 6 6| 100.0 0 0 0.0
V) —ZEH & AR — Y B 2K 6 6| 100.0 6 6| 100.0 0 0 0.0
KRIFI T AR P FRE AR 5 5| 100.0 5 5/ 100.0 0 0 0.0
FETA RS 5 5 100.0 5 5/ 100.0 0 0 0.0
EHERZ S @k Loy 5 5| 100.0 5 5| 100.0 0 0 0.0

(1~32F%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
B YA T 7— K5 5 5 100.0 5 5/ 100.0 0 0 0.0
RS2 T U A ] 5 5| 100.0 5 5| 100.0 0 0 0.0
B2 ] LB R A Ly 5 5 100.0 5 5/ 100.0 0 0 0.0
Ryl NS Rl NE 5 5| 100.0 5 5| 100.0 0 0 0.0
[EIR A PANE PRl Nt 5 5 100.0 5 5/ 100.0 0 0 0.0
o 5 ] I [ A L B P A 5 5| 100.0 5 5/ 100.0 0 0 0.0
NN 5 5 100.0 5 5/ 100.0 0 0 0.0
8 SRR 5 5 100.0 5 5| 100.0 0 0 0.0
AEFR T 5 5 100.0 5 5/ 100.0 0 0 0.0
KPHe BB P22 (I B AR R 4 4{ 100.0 4 4| 100.0 0 0 0.0
R PR B BT R S e g F 4 4] 100.0 4 4] 100.0 0 0 0.0
HETH AT 0 AL RE P A 4 4| 100.0 3 3| 100.0 1 1| 100.0
BAVE R AR R 4 4] 100.0 4 4| 100.0 0 0 0.0
FUH P e ALl R 57 4 4] 100.0 4 4| 100.0 0 0 0.0
FLIR I - EE At b il B B A 4 4] 100.0 4 4| 100.0 0 0 0.0
e AEAZFRE 4 4| 100.0 4 4| 100.0 0 0 0.0
AL F K 4 4| 100.0 4 4| 100.0 0 0 0.0
A AREFR R 4 4| 100.0 4 4| 100.0 0 0 0.0
JeFEtE bR B R S 4 4] 100.0 4 4] 100.0 0 0 0.0
UU A T Ak P 4 4| 100.0 3 3| 100.0 1 1| 100.0
KIFHR T SR AE Ak P A s 4 e 52 3 3| 100.0 3 3| 100.0 0 0 0.0
[o] [ L1 B N7 R 3 3| 100.0 3 3| 100.0 0 0 0.0
Rl [EBR R 3 3| 100.0 3 3| 100.0 0 0 0.0
R R 3 3| 100.0 2 2| 100.0 1 1| 100.0
7= BRI KT 3 3| 100.0 3 3| 100.0 0 0 0.0
T R AR B B 3 3 100.0 3 3| 100.0 0 0 0.0
KB HAG UL K (@ 7R 200 v /SR — %) 2 21 100.0 2 21 100.0 0 0 0.0
KIRAI 2 =T 4T — B — B4R 2 2| 100.0 0 0 0.0 2 2| 100.0
JUIN R AR AR 2 2| 100.0 2 2| 100.0 0 0 0.0
N iRa Ty S aa o A B 2 2| 100.0 2 2| 100.0 0 0 0.0
R R 7 7 2 2| 100.0 2 2| 100.0 0 0 0.0
R SN 2 2| 100.0 2 2| 100.0 0 0 0.0

(33~641%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
JR B @ AL PR PR (R B ) 2 2| 100.0 2 2| 100.0 0 0 0.0
KRB A AL EE P22 (AR ) 1 1| 100.0 1 1| 100.0 0 0 0.0
B R N P s 1 1| 100.0 1 1| 100.0 0 0 0.0
HZNESEPNES 1 1| 100.0 1 1| 100.0 0 0 0.0
BB 27K 1 1| 100.0 1 1| 100.0 0 0 0.0
R B TR P e (I k) 1 1| 100.0 0 0 0.0 1 1| 100.0
57 R AL 1 1| 100.0 0 0 0.0 1 1| 100.0
MR 1 1| 100.0 1 1| 100.0 0 0 0.0
R B HR 1 1| 100.0 1 1| 100.0 0 0 0.0
iy NES 1 1| 100.0 1 1| 100.0 0 0 0.0
Felf 2o 1B K7 1 1| 100.0 0 0 0.0 1 1| 100.0
PR IR VS A B o 5 1 1| 100.0 1 1| 100.0 0 0 0.0
4 BER 1 1| 100.0 0 0 0.0 1 1| 100.0
B A G R AR A B P AR (RE @ AR 1 1| 100.0 0 0 0.0 1 1| 100.0
V) | ELHIR 2 (Sh R B (R B SR A A 5K 1 1{ 100.0 1 1{ 100.0 0 0 0.0
RIRAL VO 7R 7 B AR 9 8| 88.9 9 8| 88.9 0 0 0.0
FUPH KA FTI R (RS R AR ) 9 8| 88.9 9 8| 88.9 0 0 0.0
FAY MCA EBRE AR 525 9 8 88.9 9 8| 88.9 0 0 0.0
B G R AL P AR 9 8| 88.9 9 8| 88.9 0 0 0.0
BrEarT Loy 9 8| 88.9 8 8| 100.0 1 0 0.0
A ALY AR 9 8 88.9 9 8| 88.9 0 0 0.0
SRS R IRES A A 9 8| 88.9 8 8| 100.0 1 0 0.0
FAK 1LY MC A E BE & Ak B P 2% 9 8| 88.9 8 8| 100.0 1 0 0.0
KRIFLRE EREE AL P P RAE AL 8 71 87.5 7 7| 100.0 1 0 0.0
L o o B P O AR 8 7| 875 7 7| 100.0 1 0 0.0
TEE L PR B R AR R P AR 8 7| 875 8 7| 875 0 0 0.0
B L A A B P AR 8 7| 87.5 7 7| 100.0 1 0 0.0
N R IR S e A 5 8 7| 875 8 7| 875 0 0 0.0
KRB AR — Y [ R P A R A 7 6| 85.7 7 6| 85.7 0 0 0.0
A SRR P AR 7 6| 85.7 6 6| 100.0 1 0 0.0
AR AT A AT — 7 [ @ Ak B P A 7 6| 85.7 6 6| 100.0 1 0 0.0
R TR NS 7 6| 85.7 7 6| 85.7 0 0 0.0

(65~964%)




R " T "

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
S FEI [T B A R P A 7 6| 85.7 7 6| 85.7 0 0 0.0
SLATE A B 7 6| 85.7 6 6| 100.0 1 0 0.0
KB L TR (IR 4 ik 0 6 5| 83.3 5 5| 100.0 1 0 0.0
7 =7 B AR 6 5| 83.3 4 4| 100.0 2 1| 50.0
i T R R P 2 (A SRR ) 6 5|  83.3 6 5 83.3 0 0 0.0
FAEH AR — Y ER G EF 7K 6 5/ 83.3 6 5/ 83.3 0 0 0.0
JEE IR S 2R R 7 5 4] 80.0 5 4] 80.0 0 0 0.0
IBPNE S EPNE 35/ 58 1 P NE Al 5 4] 80.0 4 3| 75.0 1 1| 100.0
Hiy R AR 5 4] 80.0 5 4| 80.0 0 0 0.0
R/ B MR P SRR R ( — S v LT — T —Fb) 9 7 77.8 8 7 87.5 1 0 0.0
DAATRAE AR P AR 9 71 77.8 7 6| 85.7 2 1| 50.0
A= Y AP ¥ (| A 9 7 77.8 8 7| 875 1 0 0.0
EIRE Y R ABDEAE AL A% 8 6| 75.0 7 6| 85.7 1 0 0.0
HFUAEY T — > a AUk P 8 6| 75.0 6 6| 100.0 2 0 0.0
] B MES o R IR e Y 5 8 6| 75.0 7 6| 85.7 1 0 0.0
BERS /S — 2 KA PSR (R R 4 3l 75.0 4 3| 75.0 0 0 0.0
B A E LY 2R (I R AL SRR 4 3l 75.0 4 3l 75.0 0 0 0.0
SRR 4 3l 75.0 4 3| 75.0 0 0 0.0
1% U7 R AL R P 7 5|  71.4 4 4| 100.0 3 1| 33.3
T R 6 4] 66.7 6 4| 66.7 0 0 0.0
EEFAR A R R 6 4 66.7 6 4] 66.7 0 0 0.0
R LA i 6 4] 66.7 3 3| 100.0 3 1| 33.3
ALY F K 3 2| 66.7 2 2| 100.0 1 0 0.0
i FH LI R 2 3 2| 66.7 2 2| 100.0 1 0 0.0
IR AR LY 3 2| 66.7 2 2| 100.0 1 0 0.0
IBIES S N e N ke 5 3] 60.0 4 3| 75.0 1 0 0.0
SRR B IR B AR 5 3] 60.0 3 2| 66.7 2 1| 50.0
R AR AP AR 5 3] 60.0 5 3] 60.0 0 0 0.0
PR AL OR B B AR 7 4 57.1 6 4] 66.7 1 0 0.0
B2 E L) Y — A LD TR 7 4] 57.1 4 3l 75.0 3 1| 33.3
T EE AR 6 3] 50.0 4 3| 75.0 2 0 0.0
S<DOFRE B AR 2 1| 50.0 2 1| 50.0 0 0 0.0

(97~128%)




R " T "
TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
LU 2 1| 50.0 2 1| 50.0 0 0 0.0
AR B B P 2 1| 50.0 1 1| 100.0 1 0 0.0
R MR T 78 P 2 (R AL B PR AR A R AL 2 1 50.0 0 0 0.0 2 1 50.0
VR AR AT 2 AR TR AR AL ) 2 1| 50.0 0 0 0.0 2 1| 50.0
ZZABEFAE AL P R E IR 9 4 44.4 8 4 50.0 1 0 0.0
HUR T T AR AL R A 524 3 1| 33.3 0 0 0.0 3 1| 33.3
RIF AR P R AL 2 0 0.0 0 0 0.0 2 0 0.0
K& R AERE P AR 2 0 0.0 0 0 0.0 2 0 0.0
ENINESS 3R i el 1 0 0.0 0 0 0.0 1 0 0.0
AOIEFRE ALY 74 1 0 0.0 1 0 0.0 0 0 0.0
KRBT R T 1 0 0.0 0 0 0.0 1 0 0.0
JUIMN EREAR— Y B PR 1 0 0.0 1 0 0.0 0 0 0.0
SO EAEA AL R AL 1 0 0.0 0 0 0.0 1 0 0.0
AR E RO P R (R AR 1 0 0.0 0 0 0.0 1 0 0.0
ISR R i R R BOR) 1 0 0.0 0 0 0.0 1 0 0.0
g o] = P I 1 0 0.0 0 0 0.0 1 0 0.0
Sz gualipNES 1 0 0.0 1 0 0.0 0 0 0.0
(129~145#%)

(&5

3t 4,529\ 4,010 88.5] 4,173 3,885 93.1 356 125  35.1

(343%)




%3 4|95

@F IRV — b (HFEAEZRA)

bk [ 52 B e Rl it

ek (GH=RIA

)

7] XA5FE (BR3FEAHIE NS ARAEIASIAET) ICAEUET) LB IIFREIET)

T HIALDOFE . TBE2R) IXRTFEE (B33 H31H) £ Tl :4%(1I5CT)L71%“C3?>6

(R AESZBRE ) IITERERNEFThHIE IE PRI ER P T CholoE T 5,
(ZBRE10ALLE)

RS = T -
TREH|ORER| Ak |ZRER| oK ER| AkE |ZRER| SKER] kR

KB AEHERE P A% (N B LR ) 18 15  83.3 18 15|  83.3 0 0 0.0
H R AL T — XL B P 224 10 8|  80.0 9 8| 88.9 1 0 0.0
PANUAERY S TUE 2 R A e 22 SN 13 10 76.9 13 10  76.9 0 0 0.0
B PR A T 7 33 22| 66.7 24 21| 87.5 9 1| 11.1
T A @ AL R AR 12 8| 66.7 10 8| 80.0 2 0 0.0
IR AR AELR B R AR 28 18|  64.3 24 16|  66.7 4 2| 50.0
TN H SR AEY T — a2 10 6| 60.0 8 6| 75.0 2 0 0.0
JR AL R P A (STt Akt 10 6| 60.0 10 6| 60.0 0 0 0.0
B T Y AT [ 33 19| 57.6 26 19 73.1 7 0 0.0
R BB P A AL B P AR 16 9 56.3 15 9  60.0 1 0 0.0
FER LY MCA E B AL R A% 25 14|  56.0 16 12| 75.0 9 2| 22.2
TR P = A AR B P AR 22 12|  54.5 22 12|  54.5 0 0 0.0
i EfA AL DR B R P 11 6| 54.5 6 4| 66.7 5 2| 40.0
7= BRI R 7 11 6| 54.5 10 6| 60.0 1 0 0.0
KRB SRR AL B P AR i s 24 12| 50.0 22 12|  54.5 2 0 0.0
T AR T R R PR SR 10 5 50.0 10 5/ 50.0 0 0 0.0
B 1A AR R A A2 23 11|  47.8 19 8| 42.1 4 3| 75.0
SR AL 19 8| 42.1 17 8| 47.1 2 0 0.0
AL T TP 24 10| 41.7 21 9|  42.9 3 1| 333
At E R AT R AR 15 6| 40.0 7 6| 85.7 8 0 0.0
P AR [ A AL BT AR 10 4| 40.0 9 4| 44.4 1 0 0.0
& 1L ~2 ] 41 16|  39.0 39 16|  41.0 2 0 0.0
VE LN R R R0 31 12| 38.7 21 12| 57.1 10 0 0.0
HLY MCA SRR AL R 55 29 11| 37.9 21 11| 52.4 8 0 0.0
i FH [T B b B P AR 16 6| 37.5 12 5| 41.7 4 1| 25.0
A AR AEZCE R (N SRR 47 17| 36.2 40 16| 40.0 7 1| 14.3
TR R PR AL BT A% 14 5| 35.7 12 4 33.3 2 1| 50.0
FHRIEFR KT 21 7| 33.3 21 7| 33.3 0 0 0.0

(1~281)




KR " T R

TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR
FURR R R AR B PR 18 6| 33.3 14 5| 35.7 4 1| 25.0
i H R R A AL R P AR 15 5/ 33.3 12 5| 41.7 3 0 0.0
V8 H AR R 34 11|  32.4 28 10|  35.7 6 1| 16.7
B SR A E R AL E R Ly 31 10| 32.3 21 10| 47.6 10 0 0.0
R R - B B AR 10 3] 30.0 9 2| 22.2 1 1| 100.0
R N7 ][22 R A AL B P AR 25 7| 28.0 20 71 35.0 5 0 0.0
S SRI R = S Ay ==L A L 27 33 9| 27.3 25 9  36.0 8 0 0.0
PR B AR 245 (A SR 11 3l 273 11 3| 27.3 0 0 0.0
HORUREAL S S (s Ra AR 24 ) 71 19| 26.8 48 15| 31.3 23 4 17.4
R B SRR A S B B P 2R g PR AR 43 11|  25.6 31 11|  35.5 12 0 0.0
N H TR R AR 12 3| 25.0 0 0 0.0 12 3| 25.0
U AL YT — S a AR P ke 25 6| 24.0 21 6| 28.6 4 0 0.0
TR ALR P AR 17 4| 23.5 12 4| 33.3 5 0 0.0
I 5 1] R = A AL R P A 13 3| 23.1 11 2| 18.2 2 1| 50.0
B VE A AL P A 46 10|  21.7 38 10| 26.3 8 0 0.0
H R e R R R 37 8| 21.6 31 8| 25.8 6 0 0.0
R 2 8 (S P AR S A ) 14 3 21.4 12 2 16.7 2 1 50.0
YMC A @ AL R A5 14 3| 21.4 13 31 23.1 1 0 0.0
O[] R 2 ) R s 10 2| 20.0 10 2| 20.0 0 0 0.0
L Z2AE [ e R A L oY 10 2| 20.0 2 1| 50.0 8 1| 12,5
T Lt R R P A 43 8| 18.6 36 8| 22.2 7 0 0.0
KA 2 =T 4T — T — B 39 71 179 37 71 18.9 2 0 0.0
il 5 R AL R A5 29 5[ 17.2 23 5| 21.7 6 0 0.0
Ab IR e e ik B 2745 30 5| 16.7 19 4 21.1 11 1 9.1
RBRFSEAER P AR 72 11| 15.3 72 11| 15.3 0 0 0.0
Ao 1L 27 B A L b R P AR 21 3| 14.3 11 1 9.1 10 2| 20.0
ZZAERFEALR M PR A IR 14 2| 14.3 12 1 8.3 2 1| 50.0
R AL PR B P AR 16 2| 12,5 13 2| 15.4 3 0 0.0
BAIEA T A AT — 7 [ A Ak B Y A 35 4] 11.4 27 4 14.8 8 0 0.0
Ve 2R R 38 4| 10.5 25 4| 16.0 13 0 0.0
FHBEHARHE L Y (R AL LR 30 3l 10.0 29 3l 10.3 1 0 0.0
TR 2R B B O R 2 31 3 9.7 24 3l 12,5 7 0 0.0

(29~60%)




ol i = " -

TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR
FATY MC A BE Ak 5P 75 11 1 9.1 6 1| 16.7 5 0 0.0
HETH AR AL P AR 35 3 8.6 29 3| 10.3 6 0 0.0
AR He R Ak B A 12 1 8.3 12 1 8.3 0 0 0.0
AOIEBEAE AL R 4% 50 4 8.0 41 3 7.3 9 1l 11.1
FOREALDR B B AL 25 2 8.0 9 0 0.0 16 2| 12,5
JUN EHEATR— B P 22 64 5 7.8 27 5| 18.5 37 0 0.0
BRI AETE B R A% 26 2 7.7 26 2 7.7 0 0 0.0
Bk oL =5 [ AR AR R 13 1 7.7 7 1| 14.3 6 0 0.0
SN v R IR A =y Uy 68 5 7.4 33 5/ 15.2 35 0 0.0
ZZAERAEAERE P AR 30 2 6.7 26 2 7.7 4 0 0.0
N NE TR el 61 4 6.6 50 3 6.0 11 1 9.1
V0 H a2 33 2 6.1 15 2| 13.3 18 0 0.0
BAVE PR B AR A 17 1 5.9 13 1 7.7 4 0 0.0
BA AR L R P 35 2 5.7 15 2| 13.3 20 0 0.0
ERE VAR ABUCAR ALY AR 19 1 5.3 17 1 5.9 2 0 0.0
bo—~ /LT = T A A 19 1 5.3 11 1 9.1 8 0 0.0
i HH B R 27 1 3.7 17 1 5.9 10 0 0.0
EAL S YN AR OZE S (Y (5 A R 47 0 0.0 43 0 0.0 4 0 0.0
= BT EE AR I B 30 0 0.0 30 0 0.0 0 0 0.0
SO A TR 23 0 0.0 23 0 0.0 0 0 0.0
B2 RO E R A Ly 23 0 0.0 20 0 0.0 3 0 0.0
R K 23 0 0.0 23 0 0.0 0 0 0.0
FERE LR B ERR T A 18 0 0.0 16 0 0.0 2 0 0.0
T BRI AR AL P AR 16 0 0.0 16 0 0.0 0 0 0.0
H L R 10 0 0.0 3 0 0.0 7 0 0.0
H 2z 1 i B AR 10 0 0.0 10 0 0.0 0 0 0.0

(61~86#%)




(B 10 AKTE)

ol i = " -

TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR
R PR T 8 R P AR T B 5 5| 100.0 5 5/ 100.0 0 0 0.0
AL PR fE R P AR 5 5 100.0 5 5/ 100.0 0 0 0.0
UME S E P LR AR R SRR 4 4| 100.0 4 4| 100.0 0 0 0.0
T EYMCAE B R AR AR Y 2245 2 2| 100.0 2 2| 100.0 0 0 0.0
Ve AR AR M LA R 2350 2 2| 100.0 2 2| 100.0 0 0 0.0
15 M FE fE AL P AR 2 2| 100.0 2 2| 100.0 0 0 0.0
UK R Em AL R A5 2 2| 100.0 2 2| 100.0 0 0 0.0
ElFNES 2 2| 100.0 2 2| 100.0 0 0 0.0
R R A B 2 (g kL) 2 2| 100.0 2 2| 100.0 0 0 0.0
INSIE]E N 2 2| 100.0 2 2| 100.0 0 0 0.0
IGLER @ ALR M 242 1 1| 100.0 1 1| 100.0 0 0 0.0
R B5 28 7 s 5 AL B P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
R SRR S A T B P SRR A 1 1| 100.0 1 1| 100.0 0 0 0.0
RIFAR— R R 524 1 1| 100.0 1 1| 100.0 0 0 0.0
R RC T R S A P R M R 7 R P 7 P RFASE 1 11 100.0 1 1{ 100.0 0 0 0.0
BAVE FAIT = R kB 1 1| 100.0 1 1| 100.0 0 0 0.0
FUIN R FL AR % (FE k%) 1 1| 100.0 1 1| 100.0 0 0 0.0
= FR E R R 1 1| 100.0 1 1| 100.0 0 0 0.0
i T R R P A 1 1| 100.0 1 1| 100.0 0 0 0.0
3T E e R 1 1| 100.0 1 1| 100.0 0 0 0.0
LI R A AL R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
OO PR B TEAR AL P A% 1 1| 100.0 1 1| 100.0 0 0 0.0
o o] [ PR R0 T AL R P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
FAA IR AR AL P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
RN EFEFULR T AR 7 6| 85.7 7 6| 85.7 0 0 0.0
R AEER AL Y 6 5|  83.3 6 5/ 83.3 0 0 0.0
A R R & B L oY 5 4| 80.0 5 4| 80.0 0 0 0.0
MHRT T 7 I — R A 5 4| 80.0 5 4| 80.0 0 0 0.0
i oo PR LSRR AL AR 4 3| 75.0 2 2| 100.0 2 1| 50.0
o [ AR AL B e v e 7 5| 71.4 6 5/ 83.3 1 0 0.0
BREE N — R ANE R AL 7R 7 5/ 71.4 5 5/ 100.0 2 0 0.0
RIFA T A AL R P A R A 3 2| 66.7 2 2| 100.0 1 0 0.0

(1~32%)




ol i = " -

TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR

H A AL R @ fk R P AR 3 2| 66.7 3 2| 66.7 0 0 0.0
IR A P R R P A K A (1 et ) 9 5|  55.6 9 5|  55.6 0 0 0.0
T — VERR R AL R AR 6 3] 50.0 3 3| 100.0 3 0 0.0
[ 1L 2 i kR P A 6 3] 50.0 6 3| 50.0 0 0 0.0
FNESIFEZ EO IR AR P AR 4 2| 50.0 4 2| 50.0 0 0 0.0
YICH @ AL R M A% 4 2| 50.0 4 2| 50.0 0 0 0.0
FR FH o R R PR AL R T AR 4 2| 50.0 4 2| 50.0 0 0 0.0
REIR & RS 2 1| 50.0 2 1| 50.0 0 0 0.0
B Y AN T 7 — KA AL B P e 2 1|  50.0 1 0 0.0 1 1| 100.0
HER e R 2 1| 50.0 1 1| 100.0 1 0 0.0
AR ALK 2 1| 50.0 2 1| 50.0 0 0 0.0
ANREES 7Y NEY TR DN 2 1|  50.0 1 1| 100.0 1 0 0.0
LR RN A A 2B I oA 2 1|  50.0 2 1| 50.0 0 0 0.0
T RF T T 272 o] A R 7 2 1| 50.0 2 1| 50.0 0 0 0.0
BRI RAg AL E B e 7 3| 42.9 7 3| 42.9 0 0 0.0
HUWHAE AL B AR 5 2| 40.0 4 2| 50.0 1 0 0.0
i B R E A AL P AR 5 2| 40.0 3 2| 66.7 2 0 0.0
NETE 5 <5 6 R Ak R AR 9 3| 33.3 8 3| 375 1 0 0.0
OUET VT AR P AR 9 3] 33.3 9 3| 33.3 0 0 0.0
R AR LR Y AR 6 2| 33.3 5 2| 40.0 1 0 0.0
PR AL AR E AR AL - PR R (TR k2 6 2 33.3 4 2 50.0 2 0 0.0
BB R AR AL EE P AR 6 2| 33.3 5 2| 40.0 1 0 0.0
—ZEH & ARV B 6 2| 33.3 4 2| 50.0 2 0 0.0
E PR EREE AL R E R 7 2|  28.6 7 2| 28.6 0 0 0.0
YLy VERRE AR ALR P 7 2|  28.6 7 2|  28.6 0 0 0.0
) AR 22 7 2| 28.6 5 2| 40.0 2 0 0.0
B m AL E R I L Y 8 2| 25.0 7 1| 14.3 1 1| 100.0
il & R E R AR P A 4 1|  25.0 4 1| 25.0 0 0 0.0
ERIE XN R NE= 4 1| 25.0 2 1| 50.0 2 0 0.0
B ] SR AL B P AR 4 1| 25.0 4 1| 25.0 0 0 0.0
H RS B i EE P AR 5 1| 20.0 4 1| 25.0 1 0 0.0
o] = SR AR AL AR — Y B P e 5 1| 20.0 3 1| 333 2 0 0.0

(33~641%)




ol i = " -

TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR
REL SIS AE BT 2200 15 )1 2 7 S 2 6 1| 16.7 5 1| 20.0 1 0 0.0
NSy LS 7 6 1| 16.7 1 0 0.0 5 1| 20.0
B, AT P A% 6 1| 16.7 6 1| 16.7 0 0 0.0
RERS /S — XKL P (S A7) 6 1| 16.7 3 0 0.0 3 1| 33.3
B AR AR P 2 (A e R B4R ) 6 1| 16.7 6 1| 16.7 0 0 0.0
B R AL AT 7 (A AR 8 1| 125 8 1| 125 0 0 0.0
S M S ALRL T A 8 1| 125 6 1| 16.7 2 0 0.0
T Bt AL B AR 8 1| 125 8 1| 125 0 0 0.0
N=T AL I s P A B P 20 8 1| 125 7 1| 14.3 1 0 0.0
MU BT — 2 al B AT 9 0 0.0 6 0 0.0 3 0 0.0
LT o R B P R SR 9 0 0.0 7 0 0.0 2 0 0.0
8o [ Nl SY (1% €170 R 9 0 0.0 8 0 0.0 1 0 0.0
AR ST A AL R P AR 9 0 0.0 9 0 0.0 0 0 0.0
RIS S A N 7 0 0.0 6 0 0.0 1 0 0.0
H R L [ B P AR 7 0 0.0 6 0 0.0 1 0 0.0
=T 7 0 0.0 4 0 0.0 3 0 0.0
i RIPANESS 58 i NE A 4 0 0.0 1 0 0.0 3 0 0.0
4 T HE L R P (SRR ) 4 0 0.0 2 0 0.0 2 0 0.0
AU [E B AL P A% 4 0 0.0 0 0 0.0 4 0 0.0
KBR R UL IR 5 (R AL R 2R v /AT — ) 3 0 0.0 3 0 0.0 0 0 0.0
YR S 2 RGeS ) 3 0 0.0 2 0 0.0 1 0 0.0
Ca SR N 3 0 0.0 3 0 0.0 0 0 0.0
KRR R RS B AR 2 0 0.0 1 0 0.0 1 0 0.0
FINER T 2 0 0.0 2 0 0.0 0 0 0.0
JEB VR o PR AR T I B P AR 2 0 0.0 0 0 0.0 2 0 0.0
ARG A AL B 248 (g 2R R 2 0 0.0 2 0 0.0 0 0 0.0
S B R AR P AR 2 0 0.0 2 0 0.0 0 0 0.0
N =T 7L H 2 B i B P 20 2 0 0.0 2 0 0.0 0 0 0.0
R RS A 5 2 0 0.0 1 0 0.0 1 0 0.0
& RAE AP AR 1 0 0.0 1 0 0.0 0 0 0.0
DA TR AL B A5 1 0 0.0 0 0 0.0 1 0 0.0
FUHTAE AL T AR 1 0 0.0 1 0 0.0 0 0 0.0
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KR " T R
TERER| AR E | AR | ZBRE R SRE| AR |ZRER| S E K| AR
ES| PN Y) o e T N 1 0 0.0 0 0 0.0 1 0 0.0
(GRS NNE S TR N 1 0 0.0 1 0 0.0 0 0 0.0
VU [E B R PR AR 1 0 0.0 1 0 0.0 0 0 0.0
& L EF AR AR 1 0 0.0 0 0 0.0 1 0 0.0
(97~100#%)

(&5

2t 2,615 657 25.1| 2,053| 616 30.0] 562 41 7.3

(1864%)
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A " T S

TEREH| A E | AR | ZBREK| OB AR | ZRE K| AkE k| AR
B LE R E SR 42 42 100.0 42 42| 100.0 0 0 0.0
0] 15 8 5 A 37 37( 100.0 37 37| 100.0 0 0 0.0
L2 v 2 AR 37 37( 100.0 37 37( 100.0 0 0 0.0
KIE R i S A 34 34 100.0 34 34| 100.0 0 0 0.0
BERF b m 31 31| 100.0 30 30[ 100.0 1 1| 100.0
T 0 48 B v S e 29 29| 100.0 29 29| 100.0 0 0 0.0
LSBT 29 29| 100.0 28 28| 100.0 1 1| 100.0
T UL AE B 5 AR 28 28 100.0 28 28 100.0 0 0 0.0
R P 1 S R 28 28 100.0 28 28| 100.0 0 0 0.0
FE s e 1 S AR 26 26 100.0 26 26 100.0 0 0 0.0
B USR5 B T v S 22 22| 100.0 22 22| 100.0 0 0 0.0
FRIEHE I i 5 21 21 100.0 20 20( 100.0 1 1| 100.0
A 8 T TR 21 21 100.0 21 21| 100.0 0 0 0.0
L[] b B 1 S AR 18 18| 100.0 17 17| 100.0 1 1| 100.0
fie B ) S AR 17 17| 100.0 17 17| 100.0 0 0 0.0
B i S 16 16| 100.0 16 16| 100.0 0 0 0.0
TR R 13 13| 100.0 12 12| 100.0 1 1| 100.0
JINAH: B T v S R 12 12| 100.0 9 9| 100.0 3 3| 100.0
o F LA = 11 11| 100.0 11 11| 100.0 0 0 0.0
A2z m S 11 11| 100.0 11 11| 100.0 0 0 0.0
ALVEIE T i AR 10 10| 100.0 10 10| 100.0 0 0 0.0
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o~ Brrs A

TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR

32 18| 56.3 20 15|  75.0 12 3l 25.0

34 19|  55.9 31 19|  61.3 3 0 0.0

13 7|  53.8 11 7|  63.6 2 0 0.0

43 22|  51.2 31 18| 58.1 12 4| 33.3

JE VL SR e 29 14|  48.3 19 13| 68.4 10 1| 10.0
32 15| 46.9 23 13| 56.5 9 2| 22.2
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A4 s i B
TERE | ABEL| AR |ZRER| SE K| ARER | ZRE K| ARER| AR
Bt 2 1 9 9| 100.0 9 9| 100.0 0 0 0.0
Va2 i S R 9 9| 100.0 9 9| 100.0 0 0 0.0
GrRFR AL i 55 5 (FLECR) 8 8| 100.0 8 8| 100.0 0 0 0.0
BT HR R i S AR 3 3| 100.0 3 3| 100.0 0 0 0.0
JEIB) R B v S 8 (RLHOR) 2 2| 100.0 2 2| 100.0 0 0 0.0
VL i 55 A 1 1| 100.0 0 0 0.0 1 1| 100.0
RG] B S A 1 1| 100.0 0 0 0.0 1 1| 100.0
Al B4 FFHS v S AR 5 4] 80.0 5 4| 80.0 0 0 0.0
o] i H S = S AR 8 6| 75.0 7 6| 85.7 1 0 0.0
JNZ A 5 TR 8 6| 75.0 5 5/ 100.0 3 1l  33.3
ERFEFEFR 7 5| 71.4 6 5/ 83.3 1 0 0.0
TURT R 8 5|  62.5 5 5/ 100.0 3 0 0.0
AR 5 S AL 5 3] 60.0 4 3| 75.0 1 0 0.0
FEE VR o 1 S e 5 AR 2 1| 50.0 0 0 0.0 2 1| 50.0
Fr R BN 1R AR 3 1| 33.3 2 1| 50.0 1 0 0.0
R LA S F TR 3 1] 33.3 0 0 0.0 3 1| 33.3
FUAREE T 2V i 2 A 3 0 0.0 0 0 0.0 3 0 0.0
T TN 1 AR 2 0 0.0 0 0 0.0 2 0 0.0
B Ak 1 S5 S 1 0 0.0 0 0 0.0 1 0 0.0
I R S AR 1 0 0.0 0 0 0.0 1 0 0.0
(1~20%%)
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3t 2,634| 2,191 83.2|] 2,301 2,080 90.4] 333 111|  33.3

(118#%)




